Edexcel Paper 2H Practice Booklet

20 practice questions based on the advance information

Copies of this booklet, as well as hints & solutions, are available at bossmaths.com/advanceinfo

Question 1
707 + 7007

T 745
7% (600 — 72)

Calculate

Et\keril\s Mus b o coleuloabr, we see

FO+F + FooF 715 =0
7 X (600 -7Y)

Question 2
o

<x_%> = ok where £ is some constant. Find the value of k.
X
c

-ho -

A o 3
x = % B

So k= 10
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Question 3

(a) yis directly proportional to 2*. When z = 11, y = 605. Find the value of z when y = 720.

2 x' Y

0S
\\ 12.) ?6 \ﬁ\wx\ \Ac 7_10) %= \L

\% \aly <—S 320

(b) p is inversely proportional to ¢. When p = 14.5, ¢ = 2. Find the value of ¢ when p = 580.

Py >k = sy 2= 29
Sdvig  5%0¢, - 24

o =X . 1 008
S®O 20

Question 4

(a) Factorise 1722 + 2z — 19 Q‘} x A \Q) (’X. _\>

(b) Expand and simplify (8¢ + 3)(8¢ — 3) — (5t + 1)(5¢t —9)

(6 —a) - (L - kot - 1)

= 4L 4hok
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Question 5

The point M lies on the line segment AB

AB:AM is 3:1

A has coordinates (-2, 3) and B has coordinates (13, 39).
Find the coordinates of M.

B (3 34)

26

l\ ¥ \Q"%
(-2,3)

\S

islﬁ W AXvQ
M E.P\(Nm\\?«w

So L\u« A we o 5 right od 12 Lp b gex
b M.
MW (-215,3%12) e

/ 2 M has coocdinkes
A T

(28 ° (3,15)
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Question 6 P “( U‘\% W W

Here are the equations of four lines.
Some 8 rodienk
(a) Circle the equations of the two parallel lines.

qrodies eodienk Y= 2x-8 3% -7 = by

= - - \ N - _
2. = _?-. 3(04‘.&\0& l %'u '_‘% = 3
g codienk = j.;

(b) Find the equation of the line that passes through the point (-8, —5) and is parallel to those you
circled in (a).

W= Lax kC 2

= Iz

c=-\

=Ly - -
y= 3% £8,-5) °
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Question 7

A rectangle’s length is double its width. The perimeter of this rectangle is 330 cm.
Work the area of the rectangle, giving your answer in m2.

o

2 2x

p 2

503 width = % e . Thaa [Q,\gg,\.;z,xu“
p@*mdws é’)b= ?)30

3P . 55
6

So widhh: S5 em ad ek = \WOom
Aces.= 55 % \\D = (0S0 cm?

= £0S0 w
\Q, 550 0.605 |

= N =
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Question 8

A force of x newtons initially acts on an area of 15 cm2.

The force is increased by 20% while the area is reduced until the pressure has doubled.

By how much is the area reduced?

x
\5

\wikied prususe = N (e

Loke proawe = 12x et = 2X bl preswe

AU A

X0-6
K_\

> 12 2

(U OTTA \S

v
X0-b

So aew ocea = 4 cm?

le. a redunchion of Gom?
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Question 9

List all the integer solutions of 22 < 6z + 27

p o ééx —(-—2}
> X —bx — 2L* < 0
> -—2<x L9

m\\t\%easzrsb \ e
‘2'-\101 \12‘/ Z/ L\I S)é/ 1/%
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Question 10
¥V L8

p = 0.30 correct to 2 decimal places

g = 1.2 correct to 1 decimal place P o 305
: 0.245
Find the error interval for ¢ — p
9. 125 A5

Upper ok e g, -
u()(kr\aswlCorq, — lowes bowd e P

)

= \\2S —0.248
= 0455
Lowe bowed  Goe 9, -V

= oo ond (e g, — Uppr bowd e @
= |-\S = 0-30S

= 0-84S

Evcor inkervek  0.345 &L 4—P L 0A4SS
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Question 11

The diagram shows a circle, with centre O, and points A, B, and C marked on the circumference.

Given that angle ACB = 53°, calculate the size of angle OAB.

/. AO8 = \D&° (ama\c. ok cenbre 3 Yhe oggle ok Hhe

c\r&mceru&>

T""“Bl‘"' Aol is issscelwy, since OA =08 (¢ “Mi)

So LOM = \O—106 _ 37
L
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Question 12

George buys a new car. The car’s value decreases by a fixed percentage each year.
After 3 years, the car is worth £14,580, and after after 5 years, it is worth £11,809.80
Work out the value of the car two years after George bought it.

Cor \olue

whea aew) Y xe

okte | yeor

ol 2 weoss
\A )((

do dyen QS0 UT

ofter A \eoss >%r )x

oller S yeors £\ $04.80

et AR ‘.__j\lgoq.go
|4 520 \A 520

- 09

Near 2 volue = Noor 3 Volue \uS80
~ 019

(!

)

[ 16200
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Question 13
On the grid, sketch the graph of y = cos 2° + 1 for —360° < x < 360°

3
1
-360 -270 -180 -90 0 20 180 270 360
-
-2
-3
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Question 14

A hemisphere of radius 10 cm and a cone are attached to form a
solid. The circular base of the cone perfectly fits onto the circular

face of the hemisphere. The solid has a volume of
1200z cm3.

Find [, the slant height of the cone.

Round your answer to 3 significant figures. 10 cm

\Jo\w\& ’OQ \V\e,ll\lS\P}mre = %m_s - 2600w 3

)
3

Yolume of tone = \—aﬂrzl\ = |oowh cm’
)

S 2000w . |oOwh - 200«
3 D

= 2600 + |00k = 30

4 1 00W
= N

\)

\ 600
l6 N

Uhsay Pytagoeos, L= [10° -+

]

\gq Cm o 3.
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Question 15

A laptop costs £1249 in the UK and €1399 in Europe. The laptop costs $1648.90 in the United
States.

You are given the following exchange rates:
$1 = £0.75 and $1 = €0.84

In which location is the laptop cheapest?

W p $

0-F5 — =2 \
S.33
VZL\O\ ﬁ \65

£ 3

O-84 m \
5.4
1344 Toss 166
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Question 16
ABCD is a quadrilateral.

DIAGRAM NOT
ACCURATELY DRAWN

Find the value of z.

Raa &2 20 : 6.3 > M-
sa(ng)  8in(®)

£-3 ga (\’Lo}

S\ 0(33)

= 10-0)....cm

Fd Ay - 5.0 410 = 2x3 040 o5 (o)

U]

s() = 364\ BN _ 0o
LRB.ER\NO

w= cost (0-427)= 64T b 2s.b.
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Question 17

¢ = {prime numbers between 1 and 40}
A=1{2,717}

B={2,5,17, 37}

O = {3,13, 23, 31, 37}

(a) Complete the Venn digram for this information.

\/

%
I 14 23

(b) A number is chosen at random from €. Find the probability that the number is a member of

B 2

3
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Question 18

A group of Year 10 students sit a test. The lowest mark achieved is 22. The median mark achieved
is 50. The range in marks is 54. The upper quartile 68 and the interquartile range was 38.

(a) Draw a box plot showing this information.

H T -

20 30 40 50 60 70 8 90

(b)  This box plot shows the marks achieved by Year 11 students on the same test.

Fo(‘ MC @S"
O Compore On ONEEEK—

in H Y
- - e

® Compore 6
ueas\(:mue sgead —

ether the Conge
of e QR
Compare the distribution of marks obtained by Year 10 with the distribution of marks

obtained by Year 11.

The median morde n YL vaos Ngﬁv Yon Yhe
M{_&im\ wn YLD

The ronfe and Snkergortile cange  of mods wos
grester i Y\ Bon M. Voo dont aeed b
menkion bobh. Jsu ton
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Question 19

T+ 3
7

and g(z) = px + 5 where p is a constant.

f(z) =
Given that g(3) = 11, find an expression for fﬁlg(x)
B p

> p="2:2 5 g6):2%x15S

R F()

)= 243 - fle). T+
= ~ = ') +3

W
.|
h
N
R
4+
wn
.
\
W

so Qo‘(ﬁ(’f—)) = ——I-Q(x) -3

\ax ¥+ %5 =3
= \ux N 32
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Question 20

Lucy estimated the number of rooks in a colony as follows:

First she caught 80 rooks and attached a ring to one of the legs of each rook. z C :‘
She then released them back into the colony. e

After they had enough time to mix, Lucy caught 55 rooks. Some of these R
rooks were birds that she had previously attached rings to. Lucy used this QCD?(’\N‘Q
information to estimate that there were 440 rooks in the colony.

Of the 55 rooks she caught, how many had rings attached?

Bosed on haor ehobe, she m@%wu\ Zﬁ, :\);\ of
4o

the covks ‘u\ikoﬂﬁ.

To hove Come W Wit her edimale | she  shald
hove fod the some Lrachon of e recoghned
rookS Fo  howve ringe aboded b Hem.

Z o 55 = 10 of the SS s alreddy

ol ags Ak ached.
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